
1 2 

3 4 

731 ÷ 43= 

5.NBT.6 5.NBT.6 

5.NBT.6 5.NBT.6 

806 ÷ 26= 

912 ÷ 57= 580 ÷ 29= 
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5 6 

7 8 

5.NBT.6 5.NBT.6 

5.NBT.6 5.NBT.6 

4,732 ÷ 14= 3,901 ÷ 47= 

1,276 ÷ 22= 6,272 ÷ 16= 
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9 10 

11 12 

5.NBT.6 5.NBT.6 

5.NBT.6 5.NBT.6 

395 ÷ 22= 572 ÷ 28= 

601 ÷ 31= 910 ÷ 17= 
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13 14 

15 16 

5.NBT.6 5.NBT.6 

5.NBT.6 5.NBT.6 

8,325 ÷ 67= 7,832 ÷ 70= 

1,496 ÷ 46= 9,804 ÷ 13= 
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17 18 

19 20 

5.NBT.6 5.NBT.6 

5.NBT.6 5.NBT.6 

Shannon has 391 beads.  
She wants to make 17 

necklaces with the same 
number of beads each.  
How many beads will 
each necklace have? 

Mr. Jones’ class used 
3,066 pieces of paper last 
month.  If they used the 
same amount each day, 

how many papers did they 
use in 21 days? 

Jacob has 437 marbles to 
split equally into 23 bags.  
How many marbles will be 

in each bag? 

Debbie’s book has 1,022 
pages.  She wants to 

finish her book in 14 days.  
How many pages should 
she read per day to meet 

her goal? 
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